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Fall 2021

September 7, 2021

. You are given that , p,; =1-0.008t° for 0<t<5.

Calculate €y, — €y .

Solution:

6o =it Posdt = j(l—o.oost?’)dt = [t—0.00Zt“]Z =[5-(0.002)(5)* |-[0-0]]=3.75

5
€5 = z k Pos = (1_0-008k3)

5
k=1 k=1

=1-0.008(1)° +1-0.008(2)* +1—0.008(3)° +1—0.008(4)° +1—0.008(5)° = 3.2

6, €, =3.75-3.2=0.55



2. You are given that mortality follows Gompertz Law with B =0.00028 and c=1.1.

Calculate f,;(10) .
Solution:

fx (t) ~t Py - Hyot

~0.00028
In(L.1)

foe(10) =y Pas  Lasiro = exp{ L.1)"[.2)" —1]} .0.00028(1.1)*° = 0.03763






